=0.15f-wwrrbees e ;
-0.3phg
() SRR S £I B | TR SRR

< 00, > (M)

<opyp, > ()

Ratio

o©
)

o

<o @> (rad)
o
=
[y a1

100r

..................

-3 -2 -1

0

1 2 3

TP n (PCA to beamline)

< o cot(y) >

.........................

.........................

TP n (PCA to beamline)

—=— DQM_CKF_QCDHighPt_base
—— DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch2

I=--v-e-- Beeaeen M- -

-3 -2 -1

0

1 2 3

TP n (PCA to beamline)

12 3

0 1
TP n (PCA to beamline)

= 100

g I S - e
AT A1 I beeeanns
Je A - L
i | I beeeans
[N A1 Y Y P
:‘ :
1111 10 beeenns
0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


